First and Last Name




B

_
i

Lk

e
=18 T

iy T,
R0 el
= T
5 4

L)
ey

1,
i

- .ﬁl1
.

[ =
By
Sk

II -.
ol

—
=
.
-

=

T

drie
Ry

Flalats

Ol

[

e

ek




Name: Score: out of 70
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Name on all pages.
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Pages 7-8 Notes Lesson 2

Pages 9-10 Worksheet Lesson 3

Pages 11-12 Notes Lesson 3

Pages 13-14 Worksheet Lesson 4
Pages 15-16 Notes Lesson 4
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Pages 29-30 Study Guide
Pages 31-32 Study Guide
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-0 All Questions Done
-1 More than Half Done
-2 Only Groupwork Q’s
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-4 Blank/Absent
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-0 All boxes filled

-1 One Empty Box

-2 Two Empty Boxes
-3 Less than Half Done
-4 Blank/Absent
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Name

4| Simplify the expression:

I9m+m—"7m

Simplify the expression:

10g + 2q

Simplify the expression:

7y — 5y + 4y

Simplify the expression:

~h—4h+ 10h

Simplify the expression:

7w+ 8w

Simplify the expression:

21z — 62

“implify the expression:

19m — 12m

LeSSon l.] on&Kﬁltee‘/'
AZSimplify the expression: A3 Simplify the expression:
9z+10z - Sw + 8w — 2w
19z :
————————————————— o, e e e e e e e e e e e e e o o
A5 'A6
Simplify the expression: 1 Simplify the expression:
I
obn—4n+n | S5x+2x —x
i
__________________ ! P e e e e e mm e e e e e e e
A8 A9
Simplify the expression: . Simplify the expression:
|
1ia+ 2a —7a 15b — 8b
!
_________________ e L e L e
Al1 1A12
Simplify the expression: 1 Simplify the expression:
I
t—2t—3t 14d + 5d
:
__________________ 1 P e m— — m e e e e e e m mm m—
A14 \A15
Simplify the expression: . Simplify the expression:
|
17e —9e +e ' 3d+4d — 2d
|
_________________ S ol A S I
A17 :A18
Simplify the expression: | Simplify the expression:
|
35v+10v—5v | 4b+2b—b
I
__________________ T e D
1A21
! Simplify the expression:
'P:(JQ Num M
c+7c—4c
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NAME

. Lesson

Simplify the expression:

¥ 4a+2b—5a+b

Simplify the expression:

=56l 4 3¢ — 4

Simplify the expression:

6f —3g—g+5f—g

Simplify the expression:

t—7t+ 144t

Simplify the expression:

7d—3+2d+c+5

Simplify the expression:

11k -9+ 2k —3

Simplify the expression:

3x—y+2x—2y:

s

2 worKShee +

Simplify the expression:

b dx+z—x+ 4z

;53 Simplify the expression:
:6m+m+4n+n—n

Simplify the expression:

,a+b+2b+a+3b

6+f—-3—f

o e e e

| Simplify the expression:

a—b+a+4a—->b
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NAme ; Distributive Property Practice I3

Lesson
DIRECTIONS: Using the Distributive Property of Multiplication, expand the given expression, correctly.

L 8(2x) 16X 5 newen] 23 -3(q)
2, A(8) > S 24 4(-1)
3. 3(8x) L 25. 3(5x)
4. (-u) ST et 26.  -4(-2)
5, 4(x) 27. 4(3x)
6. -6(-8) 28. -8(-8)
7. 3(5x) 29. 2(3h)
8.  9(1) 30.  -4(h)
9.  -5(x) 3. 5(-3x)
10.  -§(-1r) 32. -8(5x)
11.  9(m) 33. 3(b)
2. -3(9) 34.  -4(-5s)
13.  2(20n) 35. 5(11x)
4. -5(-8) 36 -4(-1)
15. 3(x) 37. 9(2x )
16.  -13(-1) 38. -15(-2g)
7. 3(3w) 39. 8(4j)
18.  -8(-7) 40. -9(-3)
19. 9(4) 41. 9(-t)
20.  -8(8) 42.  -8(-4r)
it 4(y) 43. 3(-2y)
22, -9(-2) 44, -4(3)

9 _



AN



Name: Unit # Lesson #

Activator and Video New Vocabulary (1 of 4)

New Vocabulary (2 of 4) New Vocabulary (3 of 4)




Unit#__ Lesson #—3

Misconception (4 of 4) Work Period

Exit Ticket Extra Graph Paper

S S S R RETRS Stte [ e




Name : Distributive Property Practice / /_{
JesSon |,
DIRECTIONS: Using the Distributive Property of Multiplication, expand the given expression, correctly.

1. 3(x-8) 3x-24 23. 9(t-1)

2. -4(-8 + z) 32-4z 24, -3(-2 - 4m)

3. 23x-1) 6x -2 25. 2(6x —2)

4.  -2(x+tYy) 2x — 2y 26. -4(-3 + 7g)

5. 4(x —2) 27. 43x-1)

6. -6(-3 + u) 28. -3(-3+1t)

7. 5(5x +5) 29. 6(2h +1)

8. -6(-1 + 2p) 30. -6(h + d)

9. S5(-x - 6) 31. 5(-2x +y)

10.  -3(-6x+7) 32. -8(3x + 2)

11.  8(r—9d) 33. 9b-1)

12. -6(9 + 22) 34.  -3(-5s + 2i)

13. 4(10x - 2) 35. 5(11x -5)

14.  -5(-6 — 5d) 36. -4(-2 —7d)

15. 3x-1) 37, 9(x + 6)

16.  -12(-4 - 5z) 38. -15(-2a + p)

17. 22w -5) 39. 3(7j-1)

18.  -8(-8 + 8g) 40. -9(-2 + 7Kk)

19.  9(-x + 4a) 41. 9(-2x - 8)

20. -7(8 + 2u) 42.  -3(-4r +7s)

21. 43y -2) 43. 2(-7y - 8)

22.  -9(-6 +22) 44. -4(4 + 6a)

.-
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/\/Am e

Lesson | S

The Substitution Property

Usex=2,y=3,z2=4.

Show the new problem after replacing each variable with the correct
number, under each problem, then solve the equation.

Matching:
1. x+7

2, y+21
3. 124z
4. xy

5. 2x +y

6.22 +x.

A. 12 +(4) /UwAy S (emember

B. 22 +(2)

when jom

C.(D+7
D.2(2) + 3 Subsftute .

E.3)} 21

F. (2)3)

Write ‘Me, answed  when

7. 15y

15(3)
HS

9. y+12

11. 8z +y

12. xz

()
3

14. 2z+7

16. 12 +z

X=2’J:3 E:L{

19. Ox +y

21. 14 -yz

|



Usea=5b=6,c=7.

LCSSO" ' " S

Write the new problem under the existing one, then solve.

22. 5a-

24. ab+ 2

26. 5c+ a

28.50—ab

30.4b+c

32.14 +¢

33. 20 - 4a
0 -Y(s)
A0 = R0

o}

35. 2c+7

21)+7
M +7
21
37. 30 +b

39. 3a+ 2¢
41. ac + 23

43.7a+ 3b

_\%__

44. b+ 2

(4,)+3
b+3
9

46. bc + a

48.5¢c-b

50. 6a-2b

52. ab-c¢

54. ac+b
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Name: Date: LQSSW\ lé

Circle the Commutative Property

1.

2
3
S
5

2x(3x5)=(2x3)x5 @th

. 9+11=11+9 13-4=4-13

L 12x1=1x72 9+(5+2)=9+5)+2
2x(1+3)=2x1)+(2x3) 543=3+5

. 3x14=14x3 12+-2=2+12

Find the value for » that makes the statement true.

6. 8+n=3+8 n= 3

. 12x2=mnx12 n=

8. 6+18=18+n n=

9. n+35=35+0 n=

10. 5xn=3x5 n=
‘Me Commmn {rﬁww ?fo«)ef\j (’J\Mﬁes ‘fﬁe_




Dl L€S5of\ } é

Use the commutative to fill in the blanks in each equation.

11;

12.
13.
14.
15.
16.
17.
18.
9.
20.
213

21+L§_+3%48+&+ 2|

2+__ +10+11=11+__ +9+2
_ (10+2)=(0+2)(__ )

SR + X
(15)____ )4 =(___}15)(2)
SRR st R

ab{___ )= bc{ )

6+3+_ =8+ +3

S5+(__ +19)=(22+19)+

20(__ )=10( )
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~ Simplifying Expressions:

Justifying Steps with Number Properties

Evaluate each expression. Name the property used in each step.
Show all work in the boxes provided.

pae - Ey e b Eo g fo o £ fo o g o e i g g o £ s — — S - o g
&

X A
1. 3t-4(t-8) d;sm’)ﬁﬁve Proeerb

3 ’4'6"’32 combiue LiKe H4e_rmS (CLT>
- It. + 32

2. 2+ y(;)

— 3. 36trs - 36trs

4. 4+ 6(8-3n)

5. 5r+6+43(r+2)



4[e - 2(2e + 3)]

-12k + 45 - 7k

10. 2(25g-5)-100g

In a complete sentence, name one thing you have learned about justifying steps
:#‘/{ with number properties?
a9
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CoMMON CORE ALGEBRA I

PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

1. Which of the following is equivalent to L/ ( é X -+ 7)

~o+ %

when x= =

2. Which of the following is the value of the expression

3. If the expression o +3x is equal to 42 for some value of x. Does x = 8 ?

4. Te binomial “'7+Zx ‘ Qqu;ua,len{- Zx ’7 7

5. Fill s He  BlanK X x+___,:‘?><

_Qq -



L

 6. e Sum of b-X ond x-| (s

7
7. Which of the following equations illustrates the o’g‘&HM"’eproperty omc] COV\'WW“V"’\""‘Je mee fj ’

~2(x) = -2x Z2+x = x-2

8. Which of the followingis 3 ( —6X )

9. The expression o?(x) + 5%+ 3 is equivalent to each of the following -

10. When written in simplest form the expression Y (/ — [p x + 7) -+ 3( 8 - X)

._30_




- Nzw? ¢ ;

PART II QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

11. Find the Sum of =2% with %}( in simplest form.

on. —H(N- 5>
12. If n represents a number, Simp‘i {j "KL €y l?reSS'O" . (

3+ X
when x = ’L/

13. Which of the following is equivalent to the expression

PART III QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

14. Which of the following properties justifies the equivalence: Define "Ge, answeR .

3+n=n+3 and  o(x)=éx

If b
15. Yy ] = -5 for some value of x, is it true when x = -3 07 5)tku substitufion,

Jo-3
X, (}095 — QqU\
Hon IS

= 7

. e e 145F =
sg\\" /\)071'__,__,—-——'



16. Of the following, which are equivalent?

J-n=n-1 ok

3(x+’4> = Sx t1Z

COMLMQ, I Ke ‘k«ﬁmsﬁgﬁ '7'/012_ eypression ,Sx " SX + 7

I7.

PART IV QUESTION: Answer the question in this part , Shof.o t()ou( or K-,

~ 18. What is following step to simplify the expression?

_ Expression __3(4 G = 1) Py <5x b 2,)

Step #1 -—[Zx+3 e BSX""L‘

19. Simplify the problem above.

__BZ._



